
MATHS

BOOKS - ML KHANNA

INVERSE CIRCULAR FUNCTIONS

Problem Set 1 Multiple Choice Questions

1. 

A. 

B. 

C. 

D. 

Answer: B

W h Vid S l i

cos − 1(cos ) =
7π

6

7π

6

5π

6

π

3

π

6

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_a6k82tzeWMlg


Watch Video Solution

2. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos − 1(cos ) =
5π

4

−
π

4

π

4

3π

4

5π

4

3. Principal value of  is

A. 

B. 

C. 

cos − 1[cos( )]
4π

3

4π

3

−
2π

3

π

3

https://dl.doubtnut.com/l/_a6k82tzeWMlg
https://dl.doubtnut.com/l/_mKX9dMxzrFjB
https://dl.doubtnut.com/l/_A26um2ROT860


D. 

Answer: D

Watch Video Solution

2π

3

4. The value of 
is-
 
b. 
c. 
d. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos − 1( − 1) − sin− 1(1) π
π

2

3π

2
−

3π

2

π

π

2

3π

2

−
3π

2

5. Find the value of sin[ − sin− 1( − )]
π

3

1

2

https://dl.doubtnut.com/l/_A26um2ROT860
https://dl.doubtnut.com/l/_wMcxTBvoo801
https://dl.doubtnut.com/l/_BAtKg8kQY4PH


A. 

B. 

C. 

D. 1

Answer: D

Watch Video Solution

1

2

1

3

1

4

6. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan− 2 tan( )
3π

4

−
π

4

π

4

3π

4

−
3π

4

https://dl.doubtnut.com/l/_BAtKg8kQY4PH
https://dl.doubtnut.com/l/_xBZkrmWEwt6k


7. Find the value of each of the expression in Exercise 16 to 18: 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1(sin )
2π

3

−
2π

3

2π

3

4π
3

π

3

8. 

A. 

B. 

tan− 1(tan )
2π

3

π

3

2π

3

https://dl.doubtnut.com/l/_xBZkrmWEwt6k
https://dl.doubtnut.com/l/_wUjv3BXZJex1
https://dl.doubtnut.com/l/_6KKoRzNnTUwB


C. 

D. 

Answer: C

Watch Video Solution

−
π

3

−
2π

3

9. Find the value of 

A. 

B. 1

C. 

D. 

Answer: A

Watch Video Solution

cos[cos − 1( ) + ]
−√3

2

π

6

−1

√3

2

1

2

https://dl.doubtnut.com/l/_6KKoRzNnTUwB
https://dl.doubtnut.com/l/_66rtV3fI5WSI
https://dl.doubtnut.com/l/_2rJexczCW24b


10. Evaluate the
following: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos(tan− 1 3/4)

4
5

3

4

4
3

5

4

11. =

A. 

B. 

C. 

D. none

[sin(tan− 1. )]
2

3

4

9

16

9

25

16

25

https://dl.doubtnut.com/l/_2rJexczCW24b
https://dl.doubtnut.com/l/_J0m4FaSvvG6I


Answer: B

Watch Video Solution

12. Evaluate: 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan{2tan − 1 − }
1

5

π

4

5

4

5

16

−
7

17

7

17

13. If 

A. 

sin− 1 x =  for some x ∈ ( − 1, 1), then : cos − 1 x = ....
π

5

3π

10

https://dl.doubtnut.com/l/_J0m4FaSvvG6I
https://dl.doubtnut.com/l/_rY4nVNEiuAox
https://dl.doubtnut.com/l/_e5Gqx5dCM8yW


B. 

C. 

D. 

Answer: A

Watch Video Solution

5π

10

3π

10

9π

10

14. If 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos − 1  1/x=theta , then tan θ =

1

√(x2 − 1)

√(x2 − 1)

√(1 − x2)

√(x2 + 1)

https://dl.doubtnut.com/l/_e5Gqx5dCM8yW
https://dl.doubtnut.com/l/_JLc5pLVt6US1
https://dl.doubtnut.com/l/_DYZHWpM5SjTz


15. If: , then: sin 2A=

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

A = tan− 1 x

2x

1 − x2

2x

x2 − 1

2x

1 + x2

16. 

A. 

B. x

C. 

D. 

sin(cot − 1 x) =

√(1 + x2)

(1 + x2)
− 3 / 2

(1 + x2)
− 1 / 2

https://dl.doubtnut.com/l/_DYZHWpM5SjTz
https://dl.doubtnut.com/l/_uWUWMa33ASUE


Answer: D

Watch Video Solution

17.  is equal to

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos − 1[cos( − π)]
17
15

−
17π
15

17π
15

2π

15

13π

15

18. 

A. 

tan(cos − 1 x) =

√1 − x2

x

https://dl.doubtnut.com/l/_uWUWMa33ASUE
https://dl.doubtnut.com/l/_NIagVhHQFO0F
https://dl.doubtnut.com/l/_qYI1n96MCwei


B. 

C. 

D. 

Answer: A

Watch Video Solution

x

1 + x2

√1 + x2

x

√1 − x2

19. The value of x for which  is

A. 

B. 1

C. 0

D. 

Answer: D

Watch Video Solution

sin(cot − 1(1 + x)) = cos(tan− 1 x)

1/2

−1/2

https://dl.doubtnut.com/l/_qYI1n96MCwei
https://dl.doubtnut.com/l/_U24qNsS1751i
https://dl.doubtnut.com/l/_s8tGnowX6VnN


20. If , then the value of x is

A. 1

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

sin− 1( ) + cos ec− 1( ) =
x

5

5

4

π

2

21. The value of  is

A. 

B. 

C. 

D. 

cot(cos ec− 1 + tan− 1. )
5

3

2

3

3

17

6

17

4

17

5

17

https://dl.doubtnut.com/l/_s8tGnowX6VnN
https://dl.doubtnut.com/l/_VFwecRyGeU6X


Answer: B

Watch Video Solution

22. Find the principal value of 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1( − )
√3

2

−
2π

3

−
π

3

4π
3

5π

3

23. The value of  is equal to

A. 

sin(2 sin− 1 0.8)

sin 1.2∘

https://dl.doubtnut.com/l/_VFwecRyGeU6X
https://dl.doubtnut.com/l/_yDtWP3O4DtoM
https://dl.doubtnut.com/l/_pzenqvE9ACMF


B. 

C. 

D. 

Answer: D

Watch Video Solution

sin 1.6∘

0.48

0.96

24. If 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin− 1 x + sin− 1 y = , then cos − 1 x + cos − 1 y
2π

3

2π

3

π

3

π

6

π

https://dl.doubtnut.com/l/_pzenqvE9ACMF
https://dl.doubtnut.com/l/_sbdkZNCuur4e
https://dl.doubtnut.com/l/_uwNTRxYsfOTE


25. Find the value of  .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin− 1(cos. )
33π

5

3π

5

7π
5

π

10

−
π

10

26. The value of  is

A. 

B. 

C. 

D. none

cos(2 cos − 1 x + sin− 1 x)atx = 1/5

−
2√6

5

2√5

5

3√5

5

https://dl.doubtnut.com/l/_uwNTRxYsfOTE
https://dl.doubtnut.com/l/_tiDo7eiUQJ6T


Answer: A

Watch Video Solution

27. If , then

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

a ≤ sin− 1 x + cos − 1 x + tan− 1 x ≤ b

a = 0, b = π

a = 0, b =
π

2

a = , b = π
π

2

28. If 

A. 

a ≤ tan− 1( ) ≤ b  where 0 ≤ x ≤ 1, then (a, b) =
1 − x

1 + x

(0, π)

https://dl.doubtnut.com/l/_tiDo7eiUQJ6T
https://dl.doubtnut.com/l/_KyJfQQDy2HUV
https://dl.doubtnut.com/l/_8c3bGy9qZjmx


B. 

C. 

D. 

Answer: B

Watch Video Solution

(0, π/4)

( − π/4, π/4)

(π/4, π/2)

29. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1( − ) + cos − 1( − ) − tan− 1( − √3) + cot − 1( − ) =
√2

2

1

2

1

√3

17π
12

11π

12

5π

12

π

12

https://dl.doubtnut.com/l/_8c3bGy9qZjmx
https://dl.doubtnut.com/l/_jELxg7kT5ise


30. If 

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

sin− 1 x − cos − 1 x = ,  then x =
π

6

1

2

−
1

2

√3

2

31. If  then the

value of 

A. 

B. 

C. 

sin− 1 √x2 + 2x + 1 sec− 1√x2 + 2x + 1 = , x ≠ 0
π

2

2 + =
sec− 1 x

2

sin− 1 x

2

−
π

2

− ,
3π

2

π

2

3π

2

https://dl.doubtnut.com/l/_jELxg7kT5ise
https://dl.doubtnut.com/l/_MOAblt1SIRhr
https://dl.doubtnut.com/l/_F1LScugzgHEV


D. 

Answer: C

Watch Video Solution

−
3π

2

32. If , then  is equal to

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

4 sin− 1 x + cos − 1 x = π x

1

2

−
1

2

√3

2

33. cot − 1(cot 4) =

https://dl.doubtnut.com/l/_F1LScugzgHEV
https://dl.doubtnut.com/l/_DaSJAR1AEEvt
https://dl.doubtnut.com/l/_EgO42FQMa377


A. 4

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

4

4 − π

π − 4

34. If x satisfies the equation , then there exists a value for

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

t2 − t − 2 > 0

sin− 1 x

cos − 1 x

sec− 1 x

https://dl.doubtnut.com/l/_EgO42FQMa377
https://dl.doubtnut.com/l/_YTPwK3gKkgtQ


35. If , then x is equal to

A. 

B. 

C. 1

D. 

Answer: B

Watch Video Solution

cos − 1 x − sin− 1 x = 0

√2

1

√2

±
1

√2

36. If  then 

A. 

B. 

C. 

tan− 1( ) + tan− 1( ) =
a

x

b

x

π

2
x =

ab

2ab

√ab

https://dl.doubtnut.com/l/_YTPwK3gKkgtQ
https://dl.doubtnut.com/l/_xhDk77OfI7Er
https://dl.doubtnut.com/l/_ZNNvpJGHdPXy


D. 

Answer: C

Watch Video Solution

√2ab

37. If  is real for

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

f(x) = sec− 1 x + tan− 1 x,  then f(x)

x ∈ [ − 1, 1]

x ∈ R

x ∈ ( − ∞, 1] ∪ [1 + ∞)

38. If cos − 1 p + cos − 1 q + cos − 1 r = 3π,  then pq + qr + rp =

https://dl.doubtnut.com/l/_ZNNvpJGHdPXy
https://dl.doubtnut.com/l/_dQ1mTwxzIZLr
https://dl.doubtnut.com/l/_UzJBplH1X4T9


A. 

B. 0

C. 3

D. 

Answer: C

Watch Video Solution

−3

−1

39. 

A. n

B. 

C. 

D. none

Answer: B

Watch Video Solution

2n
Σ
r= 1

sin− 1 xr = nπ  then 
2n
Σ
r= 1

xi =

2n

n(n + 1)

2

https://dl.doubtnut.com/l/_UzJBplH1X4T9
https://dl.doubtnut.com/l/_dqW5SAbhqMYm


40. If 

A. 10

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = cos − 1(cos 10),  then y =

4π − 10

2π + 10

2π − 10

41. 

A. 5

B. 

C. 

tan− 1(tan 5) =

1

5

2π − 5

https://dl.doubtnut.com/l/_dqW5SAbhqMYm
https://dl.doubtnut.com/l/_U1lwiWetADhW
https://dl.doubtnut.com/l/_2NQw1SchtJIp


D. 

Answer: D

Watch Video Solution

5 − 2π

42. If  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y = cos − 1( )  then at x = ,
1 − x2

1 + x2

3

2

dy

dx

−8/13

8/13

5/12

−5/12

https://dl.doubtnut.com/l/_2NQw1SchtJIp
https://dl.doubtnut.com/l/_5uAsT1nKK98o


Problem Set 1 True And False

43. The number of solutions of the equation

 is

A. 1

B. 2

C. 0

D. none

Answer: D

Watch Video Solution

sin− 1 + cos − 1 = π
2x

x2 + 1

x2 − 1

x2 + 1

1. 

Watch Video Solution

sin( cos − 1 x) = 1
1

5

https://dl.doubtnut.com/l/_t4ozDIuZ5WhN
https://dl.doubtnut.com/l/_FWiA1cdLKQDR
https://dl.doubtnut.com/l/_xAQolWyaVj2L


Problem Set 2 Multiple Choice Questions

2.  for all values of x.

Watch Video Solution

cos − 1 √ = sin− 1 √
a − x

a − b

x − b

a − b

1. 

A. 

B. 

C. 0

D. 

Answer: D

View Text Solution

tan− 1 ( ) + 3 tan− 1 =
1

□

1

7

tan− 1 44

29

π

2

π

4

2. tan[cos − 1 + tan− 1 ]  or tan[sin− 1 + cot − 1 ] =
4

5

2

3

3

5

3

2

https://dl.doubtnut.com/l/_xAQolWyaVj2L
https://dl.doubtnut.com/l/_J4SC5pfT3wkG
https://dl.doubtnut.com/l/_awbPH718MClo


A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

6

17

7
16

17
6

3. Evaluate: 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos( + )
sin− 1 3

5

sin− 1 5

13

33

65

65

33

23

65

65

23

https://dl.doubtnut.com/l/_awbPH718MClo
https://dl.doubtnut.com/l/_JHDUNaSYoedL


4. 

A. 

B. 

C. 

D. none

Answer: D

Watch Video Solution

cos − 1 + 2 tan− 1 =
15

17

1

5

π

2

cos − 1 171

221

π

4

5. What is the value of ?

A. 

B. 

C. 

sin− 1 + 2 tan− 14
5

1

3

π/2

π/3

π/4

https://dl.doubtnut.com/l/_JHDUNaSYoedL
https://dl.doubtnut.com/l/_ld3gGqKWVhaW
https://dl.doubtnut.com/l/_hocmWztvgEaG


D. none

Answer: A

Watch Video Solution

6. The value of  is

A. 3

B. 6

C. 7

D. 9

Answer: C

Watch Video Solution

− 2 cot − 13cotπ

4

7. tan− 1 + 2 tan− 1 =
1

7

1

3

https://dl.doubtnut.com/l/_hocmWztvgEaG
https://dl.doubtnut.com/l/_hSkamNLlbZpy
https://dl.doubtnut.com/l/_phmagx1zt4ia


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−π/4

π/4

π/2

−π/2

8. Find the value of expression: 

A. 

B. 

C. 

D. `None

Answer: A

Watch Video Solution

sin(2 ) + cos(tan− 1 2√2)
tan− 1 1

3

14
15

−
14
15

13

12

https://dl.doubtnut.com/l/_phmagx1zt4ia
https://dl.doubtnut.com/l/_nMsbdegSFXiu


9. Find the value of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1( ) − tan− 1( )
x

y

x − y

x + y

π/2

π/3

π/4

π/4or − 3π/4

10. If  then the value of

A-B is

A. 

B. 

A = tan− 1 and B = tan− 1 ( )
x√3

2λ − x

2x − λ

λ√3

0∘

30∘

https://dl.doubtnut.com/l/_nMsbdegSFXiu
https://dl.doubtnut.com/l/_AkctUgG0I6pY
https://dl.doubtnut.com/l/_O3On9fTantBr


C. 

D. 

Answer: B

Watch Video Solution

45∘

60∘

11. Given , , then the value of

 is

A. 

B. 1

C. 

D. 

Answer: B

Watch Video Solution

0 ≤ x ≤
1

2

tan[sin− 1{ + } − sin− 1 x]
x

√2

√1 − x2

√2

−1

1

√3

√3

https://dl.doubtnut.com/l/_O3On9fTantBr
https://dl.doubtnut.com/l/_MSBEmJ951pfL
https://dl.doubtnut.com/l/_5Y9uinThSNO9


12. Value of

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan− 1 + tan− 1 ,  if ∠C = 90∘  in ΔABC =
a

b + c

b

c + a

π

4

π

3

π

2

π

13. 

A. 

B. 

C. 

cot − 1 9 + =
cos − 1 √41

4

π

π/2

π/4

https://dl.doubtnut.com/l/_5Y9uinThSNO9
https://dl.doubtnut.com/l/_edY1HlhgxrcH


D. 

Answer: C

Watch Video Solution

π/3

14. If  is

A. 2

B. 3

C. 4

D. 5

Answer: B

Watch Video Solution

θ = cot − 1 7 + cot − 1 8 + cot − 1 18,  then cot θ

15. + = ?
tan− 1 1

2

tan− 1 1

3

https://dl.doubtnut.com/l/_edY1HlhgxrcH
https://dl.doubtnut.com/l/_R09nWl7IF36d
https://dl.doubtnut.com/l/_u5De1ENaIy2r


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

π

2

π

4

π

3

π

16. If , and , then: y=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan(x + y) = 33 x = tan− 1 3

0.3

tan− 1(1.3)

tan− 1(0.3)

tan− 1 1
18

https://dl.doubtnut.com/l/_u5De1ENaIy2r
https://dl.doubtnut.com/l/_1eHhmyLdYlxR


17. 

A. 0

B. 

C. 

D. none

Answer: B

Watch Video Solution

3
Σ

n= 1
=

tan− 1 1

n

π/2

π

18. IF  are two angles of a triangle , then the third angle

is

A. 

B. 

C. 

tan− 1 2, tan− 1 3

75∘

60∘

45∘

https://dl.doubtnut.com/l/_1eHhmyLdYlxR
https://dl.doubtnut.com/l/_99f1qGJ5MJHF
https://dl.doubtnut.com/l/_mMc2y1kmEA7u


D. 

Answer: C

Watch Video Solution

90∘

19. 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan− 1 + tan− 1 − tan− 1 =
3

4

3

5

8

19

π

2

3π

8

5π

8

π

4

20. Evaluate sin− 1. + sin− 1. + sin− 1.
4
5

5

13

16

65

https://dl.doubtnut.com/l/_mMc2y1kmEA7u
https://dl.doubtnut.com/l/_IOgfaeGuYxEd
https://dl.doubtnut.com/l/_SYaszZ82V4VS


A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

π/4

π/2

3π/4

21. 

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

tan− 1 5 + tan− 1 3 − cot − 1 =
4

7

π/4

π/2

3π/4

https://dl.doubtnut.com/l/_SYaszZ82V4VS
https://dl.doubtnut.com/l/_Uk4uSfgbu512


22. 

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1 + cos − 1 tan− 1 =
12

13

4

5

63

16

π/2

π

3π/2

23. Prove that 

A. 

B. 

C. 

tan− 1. + tan− 1. + tan− 1. =
1

2

1

5

1

8

π

4

π/2

π/4

π

https://dl.doubtnut.com/l/_Uk4uSfgbu512
https://dl.doubtnut.com/l/_ROcdRgo6q0Ug
https://dl.doubtnut.com/l/_t509V5p6JygR


D. 

Answer: B

Watch Video Solution

−π/4

24. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2 tan− 1 + sec− 1 + 2 tan− 1 =
1

5

5√2

7

1

8

π/2

−π/2

π/4

−π/4

https://dl.doubtnut.com/l/_t509V5p6JygR
https://dl.doubtnut.com/l/_zo2pkAHt10tg


25. Prove that 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4 tan− 1. − tan− 1. + tan− 1. =
1

5

1

70

1

99

π

4

π

π/3

π/4

π/2

26.  is equal o

A. 

B. 

C. 

4 −
tan− 1 1

5

tan− 1 1

239

π

π/2

π/3

https://dl.doubtnut.com/l/_8NClHHcm65It
https://dl.doubtnut.com/l/_7EA9w4f4YGwH


D. 

Answer: D

Watch Video Solution

π/4

27. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

tan− 1( ) + tan− 1( ) + tan− 1( ) + tan− 1( ) =
1

5

1

7

1

3

1

8

π

4

π/4

π/3

π/2

π

28.  is equal tosin[ cot − 1 ( − )]
1

2

3

4

https://dl.doubtnut.com/l/_7EA9w4f4YGwH
https://dl.doubtnut.com/l/_5akqC6CurzSU
https://dl.doubtnut.com/l/_i1FA3LmvPWBX


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2/√5

−2/√5

1/√5

−1/√5

29. Find the value of 

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

tan( cos − 1. )
1

2

√5

3

(3 − √5)
1

2

(3 + √5)
1

2

3 + √5

https://dl.doubtnut.com/l/_i1FA3LmvPWBX
https://dl.doubtnut.com/l/_98yjjBnNX6EV


Watch Video Solution

30.  is equal to :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan− 1( ) + tan− 1( )
1

4

2

9

cos − 11

2

3

5

sin( − 1)
1

2

3

5

tan− 11

2

3

5

tan− 1 1

2

31. 

A. 

B. 

C. 

cot[cos − 1 ] =
7

25

25

24

25

7

24

25

https://dl.doubtnut.com/l/_98yjjBnNX6EV
https://dl.doubtnut.com/l/_9Lkdy024ChDA
https://dl.doubtnut.com/l/_mp3BJDuJjju4


D. none of these

Answer: D

Watch Video Solution

32. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

sin− 1( ) + tan− 1( ) =
3

5

1

7

π

4

π

2

cos − 1 4
5

π

33. If , thenα = sin− 1 + sin− 1 and β = cos − 1 + cos − 14

5

1

3

4

5

1

3

https://dl.doubtnut.com/l/_mp3BJDuJjju4
https://dl.doubtnut.com/l/_4uzG1Ug7ciru
https://dl.doubtnut.com/l/_YhyccMWfNoed


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

α < β

α = β

α > β

34. If 

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

cos − 1 + cos − 1 = α  then − cosα + =
p

a

q

b

p2

a2

2pq

ab

q2

b2

cos2 α

sin2 α

tan2 α

https://dl.doubtnut.com/l/_YhyccMWfNoed
https://dl.doubtnut.com/l/_cRBgLK7BWWhI


35. If

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

cos − 1 x/2 + cos − 1 y/3 = θ,  prove that 9x2 − 12xy cos θ + 4y2 = 36 sin

36 sin2 θ

36 cos2 θ

36 tan2 θ

36. If  is equal to

A. 

B. 

C. 

cos − 1 x − cos − 1. = α, then 4x2 − 4xy cosα + y2y

2

4 sin2 α

−4 sin2 α

2 sin 2α

https://dl.doubtnut.com/l/_cRBgLK7BWWhI
https://dl.doubtnut.com/l/_LiFEA24Tv6ya
https://dl.doubtnut.com/l/_cNfyTKM2wOCM


D. 4

Answer: A

Watch Video Solution

37. The value of

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cot − 1{ }  is (0 < x < 2π)
√1 − sinx + √1 + sinx

√(1 − sinx) − √(1 + sinx)

π −
x

2

2π − x

x

2

2π −
x

2

https://dl.doubtnut.com/l/_cNfyTKM2wOCM
https://dl.doubtnut.com/l/_Mtu02snayYa1


38. If  =?

A. 

B. 

C. 1

D. 

Answer: B

Watch Video Solution

f(x) = tan− 1 √ , 0 ≤ x ≤ thenf' ( )
1 + sinx

1 − sinx

π

2

π

6

1/2

−1/2

−1

39. If 

A. 

B. 0

C. 

D. 

x ≥ 1,  then :2 tan− 1 x + sin− 1( ) = ...
2x

1 + x2

4 tan− 1 x

π/2

π

https://dl.doubtnut.com/l/_LR5XDk94Kp8e
https://dl.doubtnut.com/l/_vRU2EKWw78NW


Answer: A

Watch Video Solution

40. Evaluate : .

A. 0

B. 1

C. 

D. 

Answer: C

Watch Video Solution

tan− 1 1 + tan− 1 2 + tan− 1 3

π

−π

41. The value of

sin− 1

⎧⎪
⎨
⎪⎩

cot
⎛
⎜
⎜
⎝

sin− 1



⎷( ) + + sec− 1 √2

⎞
⎟
⎟
⎠

⎫⎪
⎬
⎪⎭

=
2 − √3

4

cos − 1(√12)

4
a

b

https://dl.doubtnut.com/l/_vRU2EKWw78NW
https://dl.doubtnut.com/l/_uCZrDgXBaOau
https://dl.doubtnut.com/l/_l333BnLYyTHu


A. 0

B. 

C. 

D. 

Answer: A

Watch Video Solution

π/4

π/6

π/2

42. The number of real solutions of


 is
 
 ero b. one
 c. two
 d.

infinite

A. zero

B. one

C. two

D. infinite

tan− 1 √x(x + 1) + sin− 1 √x2 + x + 1 =
π

2
z

https://dl.doubtnut.com/l/_l333BnLYyTHu
https://dl.doubtnut.com/l/_20t8h82lrbRC


Answer: C

Watch Video Solution

43. 

is equal to (A)  (B) 0 (C)  (D) 

A. 

B. 0

C. 

D. 

Answer: D

Watch Video Solution

tan− 1( ) + tan− 1( ) + tan− 1( ) + … + tan− 1( ) +
1

3

1

7

1

13

1

1 + n + n2

2π

3

π

2

π

4

2π

3

π/2

π/4

44.  is equal totan− 1 + tan− 1 + tan− 1 + …. ∞
1

3

2

9

4

33

https://dl.doubtnut.com/l/_20t8h82lrbRC
https://dl.doubtnut.com/l/_C0InOs4MlAjt
https://dl.doubtnut.com/l/_XtxcoYY4akAP


A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

π

4

π

3

π

2

45. If 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2 tan− 1(cos θ) = tan− 1(2 cos ecθ),  then θ =

nπ −
π

4

nπ +
π

4

nπ +
π

3

nπ −
π

3

https://dl.doubtnut.com/l/_XtxcoYY4akAP
https://dl.doubtnut.com/l/_c3OXoPTvhhvB


Problem Set 2 True And False

46. The number of solutions of  is

A. 0

B. 1

C. 2

D. infinite

Answer: B

Watch Video Solution

sin− 1 x + sin− 1 2x =
π

3

1. 

Watch Video Solution

tan− 1 + tan− 1 = cos − 11

4

2

9

1

2

3

5

https://dl.doubtnut.com/l/_c3OXoPTvhhvB
https://dl.doubtnut.com/l/_TIUqFrZLUvJf
https://dl.doubtnut.com/l/_sdl5BY7NcK0a
https://dl.doubtnut.com/l/_MF4FJviwiDdK


Problem Set 2 Fill In The Blanks

Problem Set 3 Multiple Choice Questions

2. .

True or False?

Watch Video Solution

cos − 1( ) + 2 cos − 1 √( ) + cos − 1 √( ) = cos − 1( )
12

13
64
65

49
50

1

√2

1. 

Watch Video Solution

sin{cot − 1[cos(tan− 1 x)]} = ....

2.  is equal to……….. Where

Watch Video Solution

cos(2 cos − 1 x + sin− 1 x)  at x =
1

5

0 ≤ cos − 1 x ≤ π and − ≤ sin− 1 x ≤
π

2

π

2

https://dl.doubtnut.com/l/_MF4FJviwiDdK
https://dl.doubtnut.com/l/_hti7lnknj45E
https://dl.doubtnut.com/l/_WJ0jssE07S2H
https://dl.doubtnut.com/l/_3jWf7KDoSeGD


1. If , then  belongs to

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

sin− 1 x + sin− 1(1 − x) = cos − 1 x x

1, − 1

1, 0

0, 1/2

2. If  then x equal

Watch Video Solution

sin− 1(1 − x)sin− 1 x =
π

2

3. If: , then: x=

A. 1

sin( + cos − 1 x) = 1
sin− 1 1

5

https://dl.doubtnut.com/l/_3jWf7KDoSeGD
https://dl.doubtnut.com/l/_9cLPN1eF766S
https://dl.doubtnut.com/l/_G62ZzsShR4lY


B. 0

C. 

D. 

Answer: D

Watch Video Solution

4
5

1

5

4. If 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan− 1 + tan− 1 = ,  then x =
x − 1

x − 2

x + 1

x + 2

π

4

±1

±2

±√3

±
1

√2

https://dl.doubtnut.com/l/_G62ZzsShR4lY
https://dl.doubtnut.com/l/_67mijgzYGCFn
https://dl.doubtnut.com/l/_5YNR1JI5bN7W


5. If 

A. 

B. 

C. 

D. 

Answer: A::B

Watch Video Solution

tan− 1 + tan− 1 = tan− 1 ,  then x =
x − 1

x + 1

2x − 1

2x + 1

23

36

4/3

−3/8

2/7

1/6

6. If

then 
is equal to
 
(b) 
(c) 
(d) - 

A. 

B. 

C. 1

3 sin− 1( ) − 4 cos − 1( ) + 2 tan− 1( ) = ,
2x

1 + x2

1 − x2

1 + x2

2x

1 − x2

π

3

x
1

√3
−

1

√3
√3

√3

4

√3

1

√3

https://dl.doubtnut.com/l/_5YNR1JI5bN7W
https://dl.doubtnut.com/l/_sF4sN6oHuB7S


D. 

Answer: B

Watch Video Solution

−1

7. If 

A. 0

B. 1

C. 

D. 

Answer: B

Watch Video Solution

cos − 1 − sin− 1 = cos − 1 x,  then x =
3

5
4
5

1

2

1

4

8. If sin− 1 + sin− 1 = sin− 1 x,  then x =
3

5

5

13

https://dl.doubtnut.com/l/_sF4sN6oHuB7S
https://dl.doubtnut.com/l/_9TnXHCG2YJfY
https://dl.doubtnut.com/l/_5R5NcosT2aLc


A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

41
56

56

65

13

41

9. If 

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

cot − 1 x + sin− 1 = ,  then x =
1

√5

π

4

https://dl.doubtnut.com/l/_5R5NcosT2aLc
https://dl.doubtnut.com/l/_aqWnNOd2IjLx


10. If 

A. 

B. 3

C. 2

D. 

Answer: D

Watch Video Solution

tan− 1 x + tan− 1 = ,  then x =
1
2

π

4

−3

1/3

11. 

A. 

B. 

C. 

tan− 1 2x + tan− 1 3x = nπ + ,  then x =
3π

4

1, −
1

6

,
1
2

1

3

4, 5

https://dl.doubtnut.com/l/_aqWnNOd2IjLx
https://dl.doubtnut.com/l/_oQQDKyg4Uxzr
https://dl.doubtnut.com/l/_mm8DrKD4yv7B


D. none

Answer: A

Watch Video Solution

12. 

A. a

B. b

C. ab

D. 1

Answer: C

Watch Video Solution

sec− 1 − sec− 1 = sec− 1 b − sec− 1 a,  then x =
x

a

x

b

13. If , then: x=……tan− 1( ) + tan− 1( ) =
a

x

b

x

π

2

https://dl.doubtnut.com/l/_mm8DrKD4yv7B
https://dl.doubtnut.com/l/_PWQVMCuZWNN8
https://dl.doubtnut.com/l/_RUYaS43xAPtr


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√
a

b

4√
b

a

√ab

√a + b

14. If  then : x

=

A. 

B. 

C. 

D. 

Answer: D

sin− 1( ) − cos − 1( ) = tan− 1( ),
2a

1 + a2

1 − b2

1 + b2

2x

1 − x2

a − b

1 − ab

1 + ab

a − b

ab − 1

a + b

a − b

1 + ab

https://dl.doubtnut.com/l/_RUYaS43xAPtr
https://dl.doubtnut.com/l/_uRpLCjxwc382


Watch Video Solution

15. If 

A. 4

B. 5

C. 1

D. 3

Answer: D

Watch Video Solution

sin− 1 + cos ec− 1 =  then x =
x

5

5

4

π

2

16. If 

A. 

B. 

C. 

cos(2 sin− 1 x) = ,  then x =
1

9

2/3

−2/3

1/3

https://dl.doubtnut.com/l/_uRpLCjxwc382
https://dl.doubtnut.com/l/_e3m4PSoTVItN
https://dl.doubtnut.com/l/_c72RU81o90sV


D. 

Answer: A::B

Watch Video Solution

−1/3

17. A solution of the equation 

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1(1 + x) + tan− 1(1 − x) =
π

2

x = 1

x = − 1

x = 0

x = π

https://dl.doubtnut.com/l/_c72RU81o90sV
https://dl.doubtnut.com/l/_BsKj5dHUSfOG


18. If

there , then x equals

A. 

B. 1

C. 

D. 

Answer: B

Watch Video Solution

sin− 1(x − + …. . ∞) + cos − 1(x2 − + − ……∞) =
x2

2
x3

4
x4

2
x6

4

π

2

0 < 1 × 1 < √2

1

2

−
1

2

−1

19. If , then

A. 

B. 

C. 

cos − 1 x > sin− 1 x

0 ≤ x <
1

√2

−1 < x < 0

x < 0

https://dl.doubtnut.com/l/_Jvai3PGCYt8t
https://dl.doubtnut.com/l/_d6H7neQKISu9


D. 

Answer: D

Watch Video Solution

−1 ≤ x <
1

√2

20. If

A. 

B. 

C. 0

D. none of these

Answer: B

Watch Video Solution

x2 + y2 + z2 = r2,  then tan− 1 + tan− 1 + tan− 1 =
xy

zr

yz

xr

zx

yr

π

π/2

https://dl.doubtnut.com/l/_d6H7neQKISu9
https://dl.doubtnut.com/l/_4Rf3UgLqJxIC


21. If , then 

A. 

B. 

C. 1

D. none of these

Answer: D

Watch Video Solution

x + y + z = xyz tan− 1 x + tan− 1 y + tan− 1 z =

π

π/2

22. If xy +yz+zx=1 then =

A. 

B. 

C. 1

D. none of these

tan− 1 x + tan− 1 y + tan− 1 z

π

π/2

https://dl.doubtnut.com/l/_L9hsh3hKPobQ
https://dl.doubtnut.com/l/_URRV5WQmW84w


Answer: B

Watch Video Solution

23. If , then  is equal to

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

4 sin− 1 x + cos − 1 x = π x

1

2

√3

2

−
1

2

24. If 
then find 

A. 

(tan− 1 x)
2

+ (cot − 1 x)
2

= ,
5π2

8
x.

−1

https://dl.doubtnut.com/l/_URRV5WQmW84w
https://dl.doubtnut.com/l/_0YilJUTp33Tu
https://dl.doubtnut.com/l/_4nfFbmIFKOTw


B. 1

C. 0

D. none of these

Answer: A

Watch Video Solution

25. The value of 

 is

A. 11

B. 13

C. 15

D. none

Answer: A

Watch Video Solution

tan2(sec− 1 2) + cot2(cos ec− 13)

https://dl.doubtnut.com/l/_4nfFbmIFKOTw
https://dl.doubtnut.com/l/_6PYGNK6zmYuw


26. If  then x =

A. 

B. 0

C. 

D. 1

Answer: C

Watch Video Solution

(sin− 1 x)
2

+ (cos − 1 x)
2

=
5π2

8

−1

1

√2

27. Find the set of values of parameter 
 so that the equation


has a solution.

A. 

B. 

C. 

a

(sin− 1 x)
3

+ (cos − 1 x)
3

= aπ3

k >
1

32

k =
1

32

k <
1

32

https://dl.doubtnut.com/l/_6PYGNK6zmYuw
https://dl.doubtnut.com/l/_GILL4n3UHVyd
https://dl.doubtnut.com/l/_4Dk5dn1uvMn6


D. 

Answer: C

Watch Video Solution

k = 1

28. If , and , then: y=

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

tan(x + y) = 33 x = tan− 1 3

3

10

tan− 1 3
10

tan− 1 13
10

tan− 1 1
8

https://dl.doubtnut.com/l/_4Dk5dn1uvMn6
https://dl.doubtnut.com/l/_dVuSbfjmqPWV


29. If  then the value of 

 is

A. 0

B. 1

C. 2

D. 3

Answer: A

Watch Video Solution

sin− 1 x + sin− 1 y + sin− 1 z =
3π

2

x100 + y100 + z100 −
9

x100 + y100 + z101

30.  is equal to

A. 

B. 

C. 

cos ec2( tan− 1 ) + sec2( tan− 1 )
a3

2
1
2

a

b

b3

2
1
2

b

a

(a − b)(a2 + b2)

(a + b)(a2 − b2)

(a + b)(a2 + b2)

https://dl.doubtnut.com/l/_r94s8R63pIx3
https://dl.doubtnut.com/l/_zE40sAok98m8


D. none of these

Answer: C

Watch Video Solution

31. The number of the + ive integral solutions of




 is

A. 1

B. 2

C. 3

D. 4

Answer: B

Watch Video Solution

tan− 1 x + cos − 1 = sin− 1( )
y

√1 + y2

3

√10

 or tan− 1 x + cot − 1 y = tan− 1 3

https://dl.doubtnut.com/l/_zE40sAok98m8
https://dl.doubtnut.com/l/_d4r6VFOTlE4u
https://dl.doubtnut.com/l/_BtlwxQSIrHEr


32. If  are roots of equation 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x1, x2, x3, x4

x4 − x3 sin 2β + x2 cos 2β − x cos β − sinβ = 0,  then 
4
Σ
i= 1

tan− 1 xi =

β

π/2 − β

π − β

−β

33.  is equal to

A. 

B. 

C. 

D. 

lim
n→ ∞

n

Σ
r= 1

tan− 1( )
1

2r2

π

4

π2

4

π

2

π2

16

https://dl.doubtnut.com/l/_BtlwxQSIrHEr
https://dl.doubtnut.com/l/_QegZvcwfj8Su


Answer: A

Watch Video Solution

34. If 
 for 
 , prove that


A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

ci > 0 i = 1,  2,  ,  n

tan− 1( ) + tan− 1( ) + tan− 1( ) +  
.

+
c1x − y

c1y + x

c2 − c1

1 + c2c1

c3 − c2

1 + c3c2

tan− 1

cn

tan− 1 y

x

tan− 1 xy

tan− 1 x

y

35. If

sin− 1 x + sin− 1 y = and cos − 1 x − cos − 1 y = ,  then (x, y) =
2π

3

π

3

https://dl.doubtnut.com/l/_QegZvcwfj8Su
https://dl.doubtnut.com/l/_ap11VgCwUHxd
https://dl.doubtnut.com/l/_Hd3xKf22cgCu


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(1, 1)

( , 1)
1

2

(1, )
1

2

( , )
1

3

1

3

36. If 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan− 1 + 2 tan− 1 + tan− 1 + tan− 1 = ,  then x =
1

4

1

5

1

6

1

x

π

4

−
321

9

237
4

−
461
9

349
7

https://dl.doubtnut.com/l/_Hd3xKf22cgCu
https://dl.doubtnut.com/l/_ZkEo3n2kW8pC


Problem Set 3 True And False

1. If 


then 

Watch Video Solution

+ + + tan− 1(d) /(x) =
tan− 1(a)

x

tan− 1(b)

x

tan− 1(c)

x

π

2

x4 − x2(Σab) + abcd =

2.  holds for all real x.True or False

Watch Video Solution

sin− 1 √2 − x = cos − 1 √x − 1

3.  Is this statement true of

false?

Watch Video Solution

cos − 1[ ] = 2 tan− 1[ tan ]
2 + 3 cos x

3 + 2 cos x

1

√5

x

2

https://dl.doubtnut.com/l/_ZkEo3n2kW8pC
https://dl.doubtnut.com/l/_JtenppO37Q1K
https://dl.doubtnut.com/l/_YgeLSSJb4YrQ
https://dl.doubtnut.com/l/_lTIyymx8ZfVj


Problem Set 3 Fill In The Blanks

1. If 

……

Watch Video Solution

tan− 1(x + ) − tan− 1 − tan− 1(x − ) = 0,  then x =
2

x

4
x

2

x

2. If  then x =

Watch Video Solution

sin[2 cos − 1{cot(2 tan− 1 x)}] = 0, x > 0

3. If …...

Watch Video Solution

sin− 1 + sin− 1 = sin− 1 x,  then x =
3x

5

4x

5

4. If ……..

View Text Solution

tan− 1 = tan− 1 + tan− 1 ,  then x =
1

a − b

1

x

1

a2 − x + 1

https://dl.doubtnut.com/l/_ZFlQF5bVfoGt
https://dl.doubtnut.com/l/_d0l21KhQEvpF
https://dl.doubtnut.com/l/_cziXApogrK4l
https://dl.doubtnut.com/l/_uu9lRnInpdjn


Problem Set 4 Multiple Choice Questions

1. Prove that 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

tan[ + cos − 1 ] + tan[ − cos − 1 ] = 2
π

4

1

2
a

b

π

4

1

2
a

b

b

a

a

2b

b

2a

2b
a

2a

b

2. If 

A. 

B. 

tan− 1( )
√1 + x2 − √1 − x2

√(1 + x2) + √(1 − x2)

cos x

− ( )cos − 1(x2)
π

4

1
2

https://dl.doubtnut.com/l/_uu9lRnInpdjn
https://dl.doubtnut.com/l/_2UX3vkUhkMEl
https://dl.doubtnut.com/l/_nU4DTLaMBrO3


C. 

D. none

Answer: B

Watch Video Solution

tanx

3. If , then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = sin(2 tan− 1 2), y = sin( tan− 1 )
1

2
4
3

x > y and y2 = 1 − x

x > y

x > y and y2 = x

y2 = 1 + x

https://dl.doubtnut.com/l/_nU4DTLaMBrO3
https://dl.doubtnut.com/l/_i1WywIBRrnyv


Problem Set 4 True And False

4. If , then

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

A = 2 tan− 1(2√2 − 1) and B = 3 sin− 1( ) + sin− 1( )
1

3

3

5

A > B

A < B

A = B

1. The value of  is

Watch Video Solution

tan[ cos − 1. ]
1

2

√5

3

https://dl.doubtnut.com/l/_s85eUinR62gq
https://dl.doubtnut.com/l/_HOlpLNO5Iz5b


2. If

. True or False?

View Text Solution

= ,  then θ = [α − tan− 1{ tanα}
m tan(α − θ)

cos2 θ

n tan θ

cos2(α − θ)

1

2

n − m

n + m

3. .True or False?

View Text Solution

2 tan− 1{ ( − )} = tan− 1tanα

2

π

4

β

2

cosα sinβ

sinα + cos β

4. Prove that 

Watch Video Solution

2 tan− 1(√ ) = cos − 1( )
a − b

a + b

tan θ

2

a cos θ + b

a + b cos θ

5. 


Watch Video Solution

tan− 1 + tan− 1 = tan− 12mn

m2 − n2

2pq

p2 − q2

2MN

M 2 − N 2

 where M = mp − nq, N = np + mq

https://dl.doubtnut.com/l/_ApZRndMfRomJ
https://dl.doubtnut.com/l/_a7x3v80z7d57
https://dl.doubtnut.com/l/_vsAzGWS8CQex
https://dl.doubtnut.com/l/_4unvqYMkAlr1


Problem Set 4 Fill In The Blanks

Self Assessment Test

1. 

View Text Solution

cot − 1(22 + ) + cot − 1(23 + ) + cot − 1(24 + ) + ……∞
1

2

1

22

1

23

1. If 

A. 

B. 

C. 

D. 

Answer: B

cos − 1  1/x=theta , then tan θ =

1/√x2 − 1

√x2 − 1

√1 − x2

√x2 + 1

https://dl.doubtnut.com/l/_4unvqYMkAlr1
https://dl.doubtnut.com/l/_QaTbZAF2cno8
https://dl.doubtnut.com/l/_C29Bdyg4ldTP


Watch Video Solution

2. If  then the value of sin 2A is

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

A tan− 1 x, x ∈ R

2x/(1 − x2)

2x/(x2 − 1)

2x/(1 + x2)

3. Write the value of 
.

A. 

B. 

C. 

sin(cot − 1 x)

√1 + x2

x

(1 + x2)
− 3 / 2

https://dl.doubtnut.com/l/_C29Bdyg4ldTP
https://dl.doubtnut.com/l/_Wzx7Jx8zBvT9
https://dl.doubtnut.com/l/_e0NIWKBKaWl9


D. 

Answer: D

Watch Video Solution

(1 + x2)
− 1 / 2

4. The value of 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos − 1{ is(0 < x < )
√1 − sinx + √1 + sinx

√1 − sinx − √1 + sinx

π

2

π − x

2π − x

x/2

π − x
1

2

https://dl.doubtnut.com/l/_e0NIWKBKaWl9
https://dl.doubtnut.com/l/_0OlBRou1voSr


5. The value of  is

A. 1

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1 x + cos − 1 x(|x| ≤ 1)

π

π/2

−π/2

6. If  =1 then x is equal to

A. 1

B. 0

C. 

D. 

sin( + cos − 1 x)
sin− 1 1

5

4
5

1

5

https://dl.doubtnut.com/l/_tyeK1kf24F7h
https://dl.doubtnut.com/l/_VdVYZ6sZFlko


Answer: D

Watch Video Solution

7. The value of 
is-
 
b. 
c. 
d. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos − 1( − 1) − sin− 1(1) π
π

2

3π

2
−

3π

2

π

π

2

3π

2

−
3π

2

8. If  then the

value of 

sin− 1 √x2 + 2x + 1 sec− 1√x2 + 2x + 1 = , x ≠ 0
π

2

2 + =
sec− 1 x

2

sin− 1 x

2

https://dl.doubtnut.com/l/_VdVYZ6sZFlko
https://dl.doubtnut.com/l/_79TYM4F0sX2f
https://dl.doubtnut.com/l/_BVYVJUXcJiVQ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−
π

2

− ,
3π

2

π

2

3π/2

−
3π

2

9.  is equal to

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

tan− 1 + tan− 1 + tan− 1 + …. ∞
1

3

2

9
4
33

π

4

π

3

π

2

https://dl.doubtnut.com/l/_BVYVJUXcJiVQ
https://dl.doubtnut.com/l/_hL2peEMtMqWX


10. Find the set of values of parameter 
 so that the equation


has a solution.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a

(sin− 1 x)
3

+ (cos − 1 x)
3

= aπ3

k >
1

32

k =
1

32

k <
1

32

k = 1

11. If  =1 then x is equal to

A. 

B. 1

C. 0

sin( + cos − 1 x)
sin− 1 1

5

4
5

https://dl.doubtnut.com/l/_hL2peEMtMqWX
https://dl.doubtnut.com/l/_IgHrXxMs5074
https://dl.doubtnut.com/l/_tYNzyf6MKwkG


D. 

Answer: D

Watch Video Solution

1

5

12. The value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cot[cos − 1( )]
7
25

25

24

24
25

25

7

7
24

13. If x takes negative permissible vlaue then sin− 1 x =

https://dl.doubtnut.com/l/_tYNzyf6MKwkG
https://dl.doubtnut.com/l/_6DMuJcvtWKj7
https://dl.doubtnut.com/l/_Q44DmUvozOgS


A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

cos − 1 √1 − x2

−cos − 1 √1 − x2

cos − 1 √x2 − 1

14. 

A. 

B. 0

C. 

D. none of these

Answer: C

Watch Video Solution

cot − 1 9 + =
cos − 1 √41

4

tan− 1 2

π

4

https://dl.doubtnut.com/l/_Q44DmUvozOgS
https://dl.doubtnut.com/l/_bIyBUF6XX92K


15. The principal value of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin− 1(sin )
5π

3

−5π

3

5π

3

−π

3

π

3

16. The solution set of the equation  is

A. 

B. 

C. 

sin− 1 x = 2 tan− 1 x

{1, 2}

{ − 1, 2}

{ − 1, 1, 0}

https://dl.doubtnut.com/l/_bIyBUF6XX92K
https://dl.doubtnut.com/l/_zWOatDUL6yci
https://dl.doubtnut.com/l/_c9q9hzb9Qr11


D. 

Answer: C

Watch Video Solution

{1, 2, 0}

17. If , then the value of 

 is equal to

A. 2

B. 1

C. 0

D. 3

Answer: B

Watch Video Solution

sin− 1 x + sin− 1 y + sin− 1 z =
π

2

x2 + y2 + z2 + 2xyz

https://dl.doubtnut.com/l/_c9q9hzb9Qr11
https://dl.doubtnut.com/l/_IYCHsTO5SZmB


18. 

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

cos(tan− 1( ) + tan− 1( )) =
1

3

1

2

1

√2

√2

√3

2

19.  is equal to

A. 

B. 

C. 

D. 

sin− 1 + cot − 1 3
1

√5

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_jQt0eV3EeCCs
https://dl.doubtnut.com/l/_yWDpQrGAz16t


Answer: B

Watch Video Solution

20. If 
 then 
 is equal

to 
 
(b) 
(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

sin− 1( ) + sin− 1( ) = 2 tan− 1 x,
2a

1 + a2

2b

1 + b2
x

[a, b, ∈ (0, 1)]
a − b

1 + ab

b

1 + ab

b

1 + ab

a + b

1 − ab

a − b

1 + ab

a

1 + ab

b

1 − ab

a + b

1 − ab

21. If sin− 1
x + sin− 1

y = , then cos − 1 x + cos − 1 y
2π

3

https://dl.doubtnut.com/l/_yWDpQrGAz16t
https://dl.doubtnut.com/l/_YbHQ3iz0nhxP
https://dl.doubtnut.com/l/_HkkY2OLA1TZS


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2π

3

π

3

π

6

π

4

22. 

A. 

B. 

C. 0

D. 

Answer: B

Watch Video Solution

tan− 1 + tan− 1 =
1

2

1

3

π

2

π

4

π

https://dl.doubtnut.com/l/_HkkY2OLA1TZS
https://dl.doubtnut.com/l/_SoJZOvpxsqU8


23. If 

A. 1

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos − 1
√p + cos − 1 √1 − p + cos − 1 √1 − q = than :q =

3π

4

1

√2

1

2√2

1

2

24. If 


A. 

B. x

C. 

0 < x ≤ 1,  then 

√1 + x2[{x cos(cot − 1 x) + sin(cot − 1 x)}
2

− 1]
1 / 2

=

x

√1 + x2

x√1 + x2

https://dl.doubtnut.com/l/_SoJZOvpxsqU8
https://dl.doubtnut.com/l/_1q6QooDYxHYW
https://dl.doubtnut.com/l/_N5xFGvMI2keO


D. none of these

Answer: C

Watch Video Solution

25. The number of real solutions of


 is
 
 ero b. one
 c. two
 d.

infinite

A. 0

B. 1

C. 2

D. infinite

Answer: C

Watch Video Solution

tan− 1 √x(x + 1) + sin− 1 √x2 + x + 1 =
π

2
z

https://dl.doubtnut.com/l/_N5xFGvMI2keO
https://dl.doubtnut.com/l/_NpnuInlW2IfI

